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MATH 32B Midterm I, Fall 2018
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Justify All Your Answers. No Points Will Be Given Without Suffi-
cient Reasoning/Calculations.

Problem 1. (4)

Find the triple integral [ [ [, (v* + 2%)dzdydz. Here W is the finite solid
bounded by the surface £ = 1 — y? — 22 and the plane z = 0.
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Problem 2. (4)

Compute the center of mass of D, where D is the finite region in R? withy >0
and bounded by y = z, y = —z, 22 + 42 = 1 and z? + y? = 4. Here the density —

function p(z,y) ";?'\
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Problem 3. (4)
Find the iterated integral foR ) :-v ycos(z®)dzdy. Here R is a positive constant. h\ 20

Hint: Convert the iterated integral into a double integral and evaluste the
double integral.
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Problem 4. (4) Lr Ty e H)‘
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where E is the finite solid bounded by the sphere z3 +y? +2° = R” and the
cone :l:2 +y?—22=0. Here Ris a positive constant. \

Note : E is inside both the sphere and the cone. P\ SO
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Problem 5. (4)
Estimate the following integral
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where E is the solid inside the cylinder z2 + 2 =R? with —-R < z S K. Here

R is a positive constant. Ol
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